10 mTEY » R EFiE RS ksl —ER (B7) e TR FEHS
FE TR LS
ERE2 7THETO0H1I1H (R) K&x=a— K 15120311 TEE VRN PR A T B B B
TIERMBE AR — ¥ o & — L i o — K 121010
[iE] 17 200% 3L LA 5L 6L LA 8.
4 ££100m(=0. 7) WA WA @) 14.97 | KH &5 () 15.38 | 8Kk #HFE (4) 15.38 | BEHE &4 () 15.52 | WK BE (@) 15.56 | ¥R FA (@) 16562 | B M3} (@) 165.63 | fHE HE @ 15.70
BT AVT 9T TS PN R =5 RS 5T FFRTH AR Wa=77AY =1 57 T AT 27 T TS BT AVF 7 a3 b ACE Ate
salom@.0) | EE R G B HH OB 6 B9 [WAk BE 6 2 [ AL R 6 42| AF B 6 4| EE £ 6 1o | HF BK 6 45| EE ORE 6 14.60
JRMR /N il Ly 57 EIRT ALF 5 2 T 0T = ACX ATe LI NT RY — k2 T TER Y 2 =725 IR R 5T ima kids
6 ££100m (~0. 6) A8 BeA (6) 12.89 [ ZWB #AK (6) 13.10 | HEA AR (6) 13.14 | /NEF O (6) 13.14 | S5k MEES (6) 13.17 | BJF MRAY (6) 13.33 | BIEE @AY (6) 13.53 | BB SN (6) 13.60
HU TSR /N bl S ==7 257 BHBTAY— LTS F— L YA =2 ST =R AC WAIEY 2 =7 g Ly 57 e N L 4
JE31000m B & (6) 3:01.51| MK BEKES (6) 3:05.24| BES: BB (6) 3:05.53| $AMH  KHE (6) 3:06.53| [T M (6) 3:08.64| # dLA  (6) 3:10.68| ARE ThE (6) 3:11.58| $AMH Ay (6) 3:11.86
) NIBE L 57 HERC ST s S5 F— LM F— M HERC S
stimsom (-1, 7) |TFER KX (6) 1336 KE 6 13.46 [ B #53 (6) 13.67 | BPHE HET (6) 14.08 | AJF BE (6) 14.09 | A L (6) | & 5LE (6) @il S &} (5) 15.43
VT RY = 7T (-1.7) |y 57 MR Y 57 T AT ) T AT g ERT-HI/ N Bk Ly 57 B e
WGl Ly 57 52.45 |owraersrrars- 54,15 |VAEY2=7 A 54.81 [rvswrav—rr97 4 56.05 | ima kids 56.27 |4smpets 57 56. 41 [swsisvazrmians s 57.35 |smva=7irs o7 57. 60
M BRIk (6) EK #E (6) KL A (6) ey Ki# - (6) ‘B (5) HH AKX 6B =W &3} () e g (6)
JLiMAX100mR | ERE gnF (6) g AN (6) TEHE  RKER (6) o sEgt (5) AR BE (6) wa BK 6 FEF - BER (6) B BBER (6)
fafiEs AT (6) B e (6) oK (6) wE K (6) &1 Kt (6) g mE @ Hf B (6) ot S (5)
I #am (6) NE I3 (6) HEAE ER (6) MER K (5) HE B 6 B (6) SF BE(6) K (6)
i Bk JIA FiE (6) 1m33 | EA EBA 6) 1m25 | FEE O (6) Im25 | JNEE ¥ 6) 1m0 | & A 6)  1m20 |REHK O FE—E (6)  1mlo
> A N e . - - = ¥ A . e gk . et X e N
BRI/ TR Mk R 57 biElWANE= FIRT IR AR T BIR TR
—_— BRI #E (6)  4m97 [ARFEF OMRKER (6)  4m62 | KR K (6) 4m6l | HEA &0 (6)  4mB9  |FEEE SEARER (6)  4m48 | HEE A (6) 4md6 | FE MEE (6)  4m43 i G (6)  4m40
ke s 57 (+0.9) [t ==7rs57 (+1.5) [mghe s 77 (+1.5) [memcrrtinnros (+1.5) |VwAEY=2=7 (+0. 6) [rravrorrarss (+1.9) [merazrrao-ir5r (+1.7) [tmessa=rszs (+2.5)
g Filr &} (6) 46md3 | gAK B4 (5) 46m53 | MR BB (6) 43m70 | Sk fEL (4 27md6
@Y 4TI ) . e e . .
WAEY 2 =7 ima kids BFRTEE /AL ima kids
HES0mH: 5 £0. 700m  AVF-""W7.00m EE9B AZ—F61AH 13n 95 H2S742yva 1in
FHE i B (FFvr)  FHEOE (T4 F) BEREML A KF

KRG

7] KA &R (O) [ 18)% (%) JEH (m) JELA)
9:30 /M| 20.0 82 0.7 FA RS G
10:00 F| 20.6 83 1.3 A /¥ P
11:00 2| 21.2 84 3.1 FA R TG
12:00 2| 21,1 82 1.9 A

13:00 2| 21.4 81 1.2 e e L
14:00 2| 21.9 75 1.3 A P
15:00 M| 21,7 66 2.4 A AL
15:50 mE| 21,9 67 0.9 L




F10mTES Yy XL RKES Peits—E R (K1) T TR LA

TE O TEERE LB

ERE2 7THETO0H1I1H (R) K&x=a— K 15120311 TEE VRN PR A T B B B
TIEEREAR—Y v & — LS By = — R 121010
HH 17 21 3L LA 5L 6L 7L 8.
4 4£100m(-1. 0) R A @) 14.97 | mE B @ 15.07 | W W (4) 16.42 | Bi% LI @) 15.73 | LW #I3E (4) 15.78 | SR mA (4 16.96 | LA ik (4 16.05 | @)1 FAZS (4) 16.19
Antfke - 77 ima kids BRSNS W77 2=k 77 W=7 72— 7T ima kids et = =7 7 57 BT ALT 2 T
5 4£100m (~3. 7) M ERE (5) 14.33 | W @5 (5) 14.36 [rueww sy (5) 1444 | B XEME (5) 14.96 | SR Ek (5) 15.01 | dbJN ELJR (5) 15.08 | ki k#E (5) 15.31 | NH  &AF (5)  15.44
AT AT T H7 I LN T — A ima kids ima kids T sy AT
6 4:100m (-1, 2) sxo STy (6) 13.32 | ARG FHIE (6) 13.95 | A GBI (6) 13.97 | /I Kk (6) 14.14 | IuA £ (6) 14.22 | & EIWL (6) 14.24 [EERE S0 (6) 14.32 | K &K (6) 14.56
BHETAY =R 5T BT ALF Y 7 T AT = FFT AVF 2 T AT = ?’——_A*E HTAVF 9 I THT 31— FFT ALF 5 7 T HF = MG Ly 57 WEE Ly 57
JE31000m Yegs EH (6) 3:21.56[ Tk & (6) 3:21.71| g M&Jy (5) 3:22.53| MR EE  (6) 3:22.89| JIIR HE (6) 3:24.01| m HM  (6) 3:26.74| W) T (6) 3:26.93| WH EH&HE (5) 3:27.68
F—2i0 HLETAY—brTT IR LS 57 HHRC RN 57 ke ks 57 N F— LK
JE380mH (~1. 0) B oHod (6) 13.43 [ EE EE (6) 13.84 | W M (6) 13.88 [ (LA AN (6) 13.97 | A Wiy (6) 14.34 | MEE ALK (6) 14.69 [/ER KE (5) 15.30 | M4 #iHE (6) 15.38
BT AV F 77T ima kids ima kids PIE LY 57 BT NER A E2 57
54,25 |mEkE s 57 54,94 [eravrsrrmrse s 55.10 |#bs72v—1s57 55.14 | ima kids A 56.02 |ima kids B 56.50 [7vvrmr-rror s 56. 76 |suza=7irs 77 57.58
A £ (6) WE H0h () AR WE (6) £ #WHE (6) KA Flk  6) 175 ZE (6) M FE#HE (6) EHH E (6)
JE@AX100mR | AHE  HE (6) NH  R3E 6 I 12w (6) PEVE = VUl () BRI Eidr (6) ZH KH (5 HK Ak (6) BB OES (6)
HE E#E (6) = O7RT (6) N FiifE (6) M HEEA (6) TRk BE (6) H FHL (6) W KK (6) HE & 6G)
FEAR AR (6) KN HZE (6) &R B (6) S & () Vg e (5) mA JufE (6) s EA (6) R S0 (6)
B R (6)  Im26 | I HIF- (6)  1m25 |2 Kb ¥ (6) Im25 | HAE fE& (6) 1m25 |4 4TH EE (6) Im25 | BRE @5 ()  Im25 |7 £m WIARE (6) 1m20 (7 /MR ()  1m20
. - LT S H A (1) BT ALF 2T AT I (1) BT ALF )T AT - (1) BT ALF 2T T I ima kids ima kids EBERT Y = k25T BT ALF 1T T I
63 A bk 7 PR % (6)  1m20
ks 57
S5 B Ft HRD (5)  4mS6 | miA gEfE (6)  4md0 | BEE =2 (6)  4m39 | M SE 6)  4m33 | WEH 2ERF (6)  4m31 | Kb gE 6)  4m28 | AAT EfE (B)  4ml2 [MEEE 595 (6)  4ml0
ima kids (+4, O) ima kids (+2, 4) BT ALVF Y Aty b (+3. 3) FUET AL F 5 T (+3. 7) ima kids (+2. 1) WS azTT A= b5 (+(). 4) WAEY 2 =7 (+2' 1) FET AL F 0 2T HF (+1.5)
S ) A FE OFED (5) 38ml8 R FEE  (5) 3Tm24 |GHEE REAE (B) 3Tml4 |fRH I (5) 31ml9 |G EeAT (6) 28m07 |MEH IR (4 27Tm99 | KER Ak (5) 22m30 |fEE EE (B 21m27
ima kids BREEET I (N7 5T ima kids WAV 2 =T His-A $4 krk-v 257 ima kids i titdd S w77

HEi@80nH: 5 X0. 700m  VF-~"W7.00m HEIB AF—FABIHH 13n 9RFHAD74ZyYa 1in
FHE v B(hTvr) EHROE (TN REEE Al KE




	男子決勝一覧.pdf
	女子決勝一覧

